In an arithmetic sequence, the 9th term is 4 times the 5th term. The sum of the first 2 terms is -13.
Find the 10th term

Find the 9th term and the 5th term
Uy=U, +8d
Us=U; +4d
the 9th term is 4 times the 5th term
U, +8d =4(U; + 44d)
U; +8d =4U, + 16d
0=3U,+8d
The sum of the first 2 terms is-13
U; +U,=-13
Uy +U;+d=-13
2U; +d =-13
Solve the simultaneous equations

30U, +8d = 0

6U, + 16d = 0
6U; +3d =—39

Eliminate U;
13d = 39
d=3
Substitue in one of equations
2U; + d =-13
20, +3=-13
2U; = —16

Find U
Ujo=U; +9d
Ujp=-8+9x%3
Uio =19
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